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1101 [ X418 GH 100 1500 0 1500
REEICEE 30 300 0 300 10 0 0 0 0 3240 0
GhH 30 300 0 300
1141|5848 mE 12 60 0 60 5 0 0 0 3564 0 2592
=) 1 10 0 10 10 0 0 0 0 1944 0
ED 13 70 0 70
1201|H % GH 85 1275 0 1275
1203[F ¥Ry [EH 18 180 0 180 10 0 0 0 0 918 0
GhH 18 180 0 180
1205|[F5nAE [EE 900 360 360 0 0.4 119 0 72 0 0 0
126 300 60 0 60 0.2 0 0 0 70 0 59
& 1225 520 360 160
1207 |FH EE 1260 126 126 0 0.1 17 0 16 0 0 0
EE 106 106 106 0 167 0 119 0 0 0
(&) 1366 232 232 0
1209| B & B 11 33 0 33 3 0 0 0 1836 0 1620
(&) 11 33 0 33
1223| &% (D) 25 5 0 5
1301 [HF mE 35 70 0 70 2 0 0 0 1080 0 864
=H 1280 384 0 384 0.3 0 0 0 0 92 0
= 32 160 0 160 5 0 0 0 0 1512 0
12 hel 150 60 0 60 0.4 0 0 0 0 167 0
(&) 1497 674 0 674
1311[FRE X 81 324 0 324 4 0 0 0 1728 0 1620
[&0) 81 324 0 324
1321 [HA R mE 100 500 0 500 5 0 0 0 1728 0 1512
= E 84 420 0 420 5 0 0 0 1404 0 1080
=% 30 150 0 150 5 0 0 0 0 1728 0
(&) 214 1070 0 1070
1331 [AFBy  [—a—T—FU| 20 200 0 200 10 0 0 0 0 2376 0
(&) 20 200 0 200
1351[E—<> |55 780 117 0 117 0.15 0 0 0 86 0 81
(&) 780 117 0 117
1353[ Tk =0 90 9 0 9 0.1 0 0 0 270 0 162
(&) 90 9 0 9
1403| e T oL 33 66 0 66 2 0 0 0 1836 0 756
(&) 33 66 0 66
1407 | EB T [GD) 250 25 0 25
1501 | H & =) 3 15 0 15 5 0 0 0 0 1512 0
Eh 3 15 0 15
1541 | E& dLiEE 30 300 0 300 10 0 0 0 2268 0 2160
dLiEE 399 7980 0 7980 20 0 0 0 3024 0 1771
(&) 431 8320 0 8320
1603[ L) —  [EE 6 60 0 60 10 0 0 0 4320 0 4104
(&) 6 60 0 60
1609|Javaly  [&Jl 50 300 0 300 6 0 0 0 2484 0 2160
(&) 50 300 0 300
1611[LAR Rk 2 10 0 10 5 0 0 0 0 1080 0
(&) 11 100 0 100
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1627[2=F=F  [&EJI 60 12 0 12 0.2 0 0 0 0 162 0
X 45 135 0 135 3 0 0 0 1944 0 1512
[&D) 253 184 0 184
1705| L= fa] 270 22 0 22 0.08 0 0 0 0 108 0
[&D) 420 34 0 34
1803 | E mE 150 15 0 15 0.1 0 0 0 0 125 0
=) 60 12 0 12 0.2 0 0 0 77 0 66
& 660 72 0 72
1807 |#B f=554 150 15 0 15 0.1 0 0 0 0 49 0
=% 930 186 0 186 0.2 0 0 0 81 0 70
f=554 150 45 0 45 0.3 0 0 0 0 94 0
& 1230 246 0 246
1809[L&L EH 1000 100 0 100 0.1 0 0 0 41 0 38
EF 1800 360 0 360 0.2 0 0 0 92 0 81
GbH 2800 460 0 460
* S FAET * 22160 29652 1184 28468
2119 HE# BiE 72 720 0 720 10 0 0 0 0 864 0
(&) 101 1010 0 1010
2139|TaR> L 73 365 0 365 5 0 0 0 0 2538 0
Eh 73 365 0 365
2221|E+ = 5 50 0 50 10 0 0 0 0 4860 0
(&) 5 50 0 50
2811|& EES 614 154 0 154 0.25 0 0 0 302 0 194
[E)) 614 154 0 154
* EEET * 1557 2867 0 2867




